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Train

1. A train running at the speed of 56 km/hr

crosses a pole in 18 seconds. What is the

length of the train?

56 fdeh@?kaVk dh xfr ls py jgh ,d Vªsu ,d •aHks dks
18 lsdaM esa ikj djrh gSA Vªsu dh yackbZ fdruh gS\

(a) 280 m (b) 250 m

(c) 325 m (d) 140 m

2. The speed of a train is 78 km/h. It crosses a

tunnel in 45 s and overtakes a person walking

at a speed of 6 km/h, in the samed direction,

in 15 s. The length (in m) of the tunnel is :

fdlh jsyxkM+h dh pky 78 km/h gSA ;g fdlh lqjax dh
45 s esa ikj djrh gS vkSj mlh fn'kk es 6 km/h dh pky
ls pyus okys O;fDr dks 15 s es vksojVsd djrh gSA lqjax
dh yackbZ (ehVj esa) Kkr djsaA

(a) 675 (b) 650

(c) 975 (d) 780

3. The speed of a car is 40% more than that of a

bus. A train covers 1020 km in 8
1

2
hours. How

much distance will the the car cover in 1
3

4

hours if the speed of the bus is half the speed

of the train?

,d dkj dh pky] ,d cl dh rqyuk esa 40» vf/d gSA

,d Vªsu 1020 km dh nwjh ls 8
1

2
 ?kaVs esa r; djrh

gSA1
3

4
?kaVs esa dkj fdruh nwjh r; djsaxh ;fn cl dh pky

Vªsu dh pky dh vis{kk vk/h gSA

(a) 164 km (b) 145 km

(c) 147 km (d) 174 km

4. A train is to cover 370 km at a uniform speed.

After running 100 km, the train could run at

a speed 5 km/h less than its normal speed due

to some techical fault. The train got delayed

by 36 minutes. What is the normal speed of the

train, in km/h?

Train/ jsyxkM+h
( Practice Sheet With Solution)

,d leku pky ls pyrs gq,] fdlh jsyxkM+h dks 370
fdeh- dh nwjh r; djuh FkhA 100 fdeh- pyus ds ckn
dqN rduhdh [kjkch ds dkj.k jsyxkM+h viuh lkekU; pky
ls 5 fdeh-@?kaVk dh de pky ls pyrh gSA jsyxkM+h 36
feuV nsjh ls  igq¡phA jsyxkM+h dh lkekU; pky (fdeh@?kaVk)
fdruh Fkh\
(a) 48 (b) 45

(c) 40 (d) 50

5. A train's journey is disrupted due to an

accident on its track after it has travelled 30

km Its speed then come down to fourth- fifth

of its original and consequently, If runs 45 min

late Had the accident taken place 18 km

farther away, it would have been 36 min late.

Find the original speed of the train.

30 fdeh pyus ds ckn VªSd ij fdlh nq?kZVuk ds dkj.k
,d Vªsu dh ;k=kk ckf/r gks tkrh gS] fiQj mldh xfr viuh

ewy xfr ls
4

5
rd de gks tkrh gS vkSj ifj.kkeLo:i] ;fn

45 feuV nsjh ls pyrh gS] ;fn nq?kZVuk 18 fdeh nwj gksrh]
rks ;g gksrh 36 feuV nsj gks xbZ gS- Vªsu dh ewy xfr Kkr
dhft,A

(a) 25 (b) 36

(c) 30 (d) 20

6. A train after travelling a distance of 110 km

develops a problem in the engine and proceeds

at 3/4th of its former speed and arrives at the

destination 60 min late. Had the problem

developed 30 km further on, the train would

have arrrived a12 min sooner from last one.

Find the original speed of train.

,d Vªsu esa 110 fdeh dh ;k=kk djus ds ckn batu esa [kjkch
gksrh gS vkSj ;g viuh okLrfod pky dh 3/4th pky ls
vkxs c<+rh gS vkSj xarO; ij 60 feuV ysV igqaprh gSA ;fn
[kjkch 30 fdeh vkxs gqbZ gksrh rks Vªasu igys ls 12 feuV
tYnh igq¡ap tkrhA Vªsu dh okLrfod pky crkvksaA

(a) 45 (b) 60

(c) 50 (d) 55
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Train

7. Two guns were fired from the same placed at

an interval of 10 minutes and 30 seconds but

a person in the train approaching the place

hears the second shot 10 minutes after the

first. The speed of the train ( in km/hr)

supposing that sound speed travels at 330

metres per second.

10 feuV vkSj 30 lsdaM ds varjky ij ,d gh LFkku ls nks
canwdsa pykbZ xbZa ysfdu ml LFkku ij vk jgh Vªsu esa ,d
O;fÙkQ igyh xksyh ds 10 feuV ckn nwljh xksyh lqurk gSA
Vªsu dh xfr (fdeh@?kaVk esa) eku yhft, fd èofu dh xfr
330 ehVj çfr lsdaM dh xfr ls ;k=kk djrh gSA

(a) 56 (b) 59.4

(c) 52.8 (d) 55.5

8. A 320 metre long train moving with an average

speed of 120 km/hr crosses a platform in 24

seconds. A man crosses the same platform in

4 minutes. What is the speed of the man in

metre/second?

,d 320 ehVj yach Vªsu 120 fdeh@?kaVk dh vkSlr xfr ls
pyrs gq, ,d IysViQkWeZ dks 24 lsdaM esa ikj djrh gSA ,d
vkneh mlh IysViQkeZ dks 4 feuV esa ikj djrk gSA ehVj@lsdaM
esa vkneh dh xfr D;k gS\

(a) 2.4 (b) 105

(c) 1.3 (d) 2.0

9. Two trains run on parallel tracks at 90 km/hr

and 72 km/hr respectively. When they are

running in the opposite direction they cross

each other in 5 seconds. When they are

running in the same direction at same speeds

as before a passenger sitting in the faster train

sees the other passing him in 25 seconds. Find

the length of each train:

nks Vªsusa lekukarj iVfj;ksa ij Øe'k% 90 fdeh@?kaVk vkSj 72
fdeh@?kaVk dh xfr ls pyrh gSaA tc os foijhr fn'kk esa
nkSM+rh gSa rks os ,d nwljs dks 5 lsdaM esa ikj djrh gSaA tc
os leku xfr ls mlh fn'kk esa nkSM+ jgs gksrs gSa rst xfr
okyh Vªsu esa cSBk ;k=kh 25 lsdaM esa nwljs dks vius ikl ls
xqtjrs gq, ns•rk gSA çR;sd Vªsu dh yackbZ Kkr dhft,%

(a) 125m, 90m (b) 125 m 100m

(c) 120 m, 100m (d) 125m,120m

10. A train travelling at 48 km/h crosses another

train, having half its length and travelling in

opposite direction at 42 km/hr, in 12 seconds

It also passes a railway platform in 45 seconds.

The length of the railway platform is :

48 fdeh@?kaVk dh xfr ls ;k=kk djus okyh ,d Vªsu foijhr
fn'kk esa 42 fdeh@?kaVk dh xfr ls vk/h yackbZ okyh nwljh
Vªsu dks 12 lsdaM esa ikj djrh gSA ;g ,d jsyos IysViQkWeZ dks
Hkh 45 lsdaM esa ikj djrh gSA jsyos IysViQkeZ dh yackbZ gS%
(a) 455 m (b) 400 m

(c) 420 m (d) 450m

11. A passengered sitting in a train of length L m,

which is running with the speed of 60 km/h

passing through two bridges, notice that he

crosses the first bridge and the second bridge

in time intervals which are in the ratio of 7 :

4 respectively If the length of first bridge is

280 m, then the length of second bridges is :

L ehVj yackbZ dh ,d Vªsu] tks nks iqyksa ls gksdj 60
fdeh@?kaVk dh xfr ls py jgh gS] esa cSBk ,d ;k=kh ns•rk
gS fd og igys iqy vkSj nwljs iqy dks le; Øe'k% 7 % 4
ds vuqikr varjky esa ikj djrk gS ;fn igys iqy dh yackbZ
280 ehVj gS] rks nwljs iqy dh yackbZ gS%
(a) 155 m (b) 160 m

(c) 120 m (d) 140 m

12. A cave whose length is 2 km. A train enters

the cave from one end and another train from

the other end and they both meet after 1.5

minutes. At the time of meeting, the first train

had covered a distance of 400 m more than the

second train. And they cross each other in 4.5

seconds. After 57 seconds, the first train

completely exits the cave. Then what is the

length of both the trains?

,d xqiQk ftldh yEckbZ 2 fdeh gSA ,d Vªsu ,d fljs ls rFkk
nwljh Vªsu nwljs fljs ls xqiQk esa izos'k djrh gS vkSj 1-5 feuV
ckn os nksuksa feyrh gSaA feyrs oDr igyh Vªsu] nwljh Vªsu ls
400 eh nwjh T;knk r; dj pqdh FkhA vkSj os ,d nwljs dks 4-5
lsdaM esa ikj dj ysrh gSaA blds 57 lsdaM ckn igyh Vªsu xqiQk
ls iwjh ckgj gks tkrh gSA rks nksuksa Vªsuksa dh yEckbZ D;k gS\
(a) 78m, 16m. (b) 68m, 15m

(c) 85, 20m. (d) 80m, 20.

13. An express train travelling at 80 km/hr

overtakes a goods train, twice as long and

going at 40 km/hr on a parallel track, in 54 s.

How long will the express train take to cross a

platform of 400 m long?

80 fdeh@?kaVk dh xfr ls ;k=kk djus okyh ,d ,Dlçsl
Vªsu 54 lsdaM esa lekukarj VªSd ij 40 fdeh@?kaVk dh xfr
ls pyus okyh ,d ekyxkM+h ls nksxquh yach ekyxkM+h ls
vkxs fudy tkrh gSA ,Dlçsl Vªsu 400 ehVj yacs IysViQkWeZ
dks ikj djus esa fdruk le; ysxh\
(a) 36 (b) 45

(c) 27 (d) none of these
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14. The ratio of the speeds of the train and the

man is 6 : 1. The length of the train is 650m

and crosses a pole in 1 minute 5 seconds. In

how much time will the man cross the 240m

long platform?

Vªsu vkSj vkneh dh xfr dk vuqikr 6%1 gSA Vªsu dh yackbZ
650 ehVj gS vkSj ,d iksy dks 1 feuV 5 lsdaM esa ikj
djrh gSA vkneh 240 ehVj yacs IysViQkeZ dks fdrus le;
esa ikj djsxk\
(a) 1 minute 24 sec (b) 2 minutes 30 sec

(c) 2 minutes (d) 2 minutes 24 sec

15. Two trains, A and B start from stations X and

Y towards Y and X respectively. After passing

each other, They take 4 hours 48 minutes and

3 hours 20 minutes to reach Y and X

respectively. If train A is moving at 45 km/hr.,

then the speed of the train B is

nks Vªsusa] A vkSj B Øe'k% X vkSj Y LVs'kuksa ls Y vkSj X
dh vksj pyrh gSaA ,d nwljs dks ikj djus ds ckn] os
Øe'k% Y vkSj X rd igq¡pus esa 4 ?kaVs 48 feuV vkSj 3
?kaVs 20 feuV dk le; ysrh gSaA ;fn Vªsu A 45 fdeh@?kaVk
dh xfr ls py jgh gS] rks Vªsu B dh xfr gS
(a) 60 km/hr (b) 64.8 km/hr

(c) 54 km/hr (d) 37.5 km/hr

16. The time taken for the tail end of a train to

cross a pole is 53 seconds. If the length of the

trains is 110 m and speed of the train is 36

km/hr, find the initial distance of the pole

from the front end of the train.

,d jsyxkM+h ds fiNys fljs dks ,d •aHks dks ikj djus esa
yxus okyk le; 53 lsdaM gSA ;fn Vªsuksa dh yackbZ 110
ehVj gS vkSj Vªsu dh xfr 36 fdeh@?kaVk gS] rks Vªsu ds
lkeus ds Nksj ls •aHks dh çkjafHkd nwjh Kkr dhft,A
(a) 420 m (b) 530 m

(c) 640 m (d) 1798 m

17. A train, 500 m long, passes a railway platform
400 m long, in one minute with uniform speed.
What is the time (in seconds) taken by the
train to pass a man riding a motorbike,
travelling opposite to the direction of the train,
at a speed of 18 km/h ?

500 ehVj yach Vªsu ,d 400 ehVj jsyos IysViQkWeZ dks ,d
leku pky ls 1 feuV esa ikj djrh gSA 18 fdeh@?kaVk dh
pky ls Vªsu ds foijhr ;k=kk djrs gq, ,d eksVjlkbfdy
lokj O;fDr dks ikj djus esa Vªsu }kjk fy;k x;k le;
(lsdaM esa) fdruk gksxk\

SSC CHSL 2020 Tier-I

(a) 30 (b) 48

(c) 54 (d) 25

18. Two trains of the same length are running on
parallel tracks in the same direction at 54 km/
h and 42 km/h respectively. The faster train
passes the other train in 63 seconds. What is
the length (in metres) of each train?

leku yackbZ dh nks Vªsusa lekukarj iVfj;ksa ij ,d gh fn'kk
esa Øe'k% 54 fdeh@?kaVk vkSj 42 fdeh@?kaVk dh pky ls
py jgh gSA rst Vªsu nwljh Vªsu dks 63 lsdaM esa ihNs NksM+
nsrh gSA çR;sd Vªsu dh yackbZ (ehVj esa) Kkr djsaA

SSC CHSL 2 July 2019 (Morning)

(a) 90 (b) 81

(c) 105 (d) 210
19. The platform of a station 400 m long starts

exactly where the last span of a bridge 1.2 km
long ends. How long will a train 200 m long
and travelling at the speed of 72 km/h take
to cover the distance between the starting
point of the span of the bridge and the far end
of the platform?

fdlh LVs'ku dk 400 ehVj yack IysViQkWeZ Bhd ogha ls 'kq:
gksrk gS tgk¡ 1-2 fdeh yacs iqy dk vafre ikV lekIr gksrk
gSA 72 fdeh@?kaVk dh pky ls py jgh 200 ehVj yach ,d
Vªsu dks iqy ds ikV ds vkjafHkd fcanq rFkk IysViQkWeZ ds
vafre fcanq rd tkus esa fdruk le; yxsxk \

SSC CHSL 11 July 2019 (Morning)
(a) 1.6 min (b) 1.5 min

(c) 1.8 min (d) 1.2 min
20. Renu was sitting inside train A, which was

travelling at 50 km/h. Another train, B whose
length was three times the length of A crossed
her in the opposite direction in 15 seconds. If
the speed of train B was 58 km/h, then the
length of train A (in m) is :

js.kq ,d Vªsu ds Hkhrj cSBh gqbZ Fkh] tks 50 fdeh@?kaVk dh
pky ls py jgh FkhA A dh yackbZ ls frxquh yackbZ dh ,d
vU; Vªsu B us mls foijhr fn'kk ls 15 lsdaM  esa ikj
fd;kA ;fn Vªsu B dh pky 58 fdeh@?kaVk Fkh] rks Vªsu A

dh yackbZ (ehVj esa) Kkr djsaA
SSC CGL TIER II (12 September 2019)

(a) 210 (b) 180

(c) 160 (d) 150
21. A train x running at 84 km/h crosses another

train y running at 52 km/h in opposite direction
in 12 seconds. If the length of y is two-third that
of x, then what is the length of x ?

84 fdeh@?kaVk dh pky ls py jgh ,d Vªsu x lkeus ls
52 fdeh@?kaVk dh pky ls vk jgh nwljh Vªsu y dks 12
lsdaM esa ikj djrh gSA ;fn y dh yackbZ x dh yackbZ ls nks
frgkbZ gS] rks x dh yackbZ fdruh gS\

SSC CHSL 2 July 2019 (Evening)
(a) 250 m (b) 242 m

(c) 272 m (d) 408 m
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Train

22. Two trains are moving in the same direction
at 1.5 km/minute and 60 km/hour
respectively. A man in the faster train observes
that it takes 27 seconds to cross the slower
train. The length of the slower train is

nks jsyxkfM+;k¡ Øe'k% 1-5 fdeh@feuV vkSj 60 fdeh@?kaVk
dh pky ls lkeku fn'kk esa py jgh gSaA rst jsyxkM+h esa
lokj dksbZ O;fÙkQ ns•rk gS fd /heh jsyxkM+h dks ikj djus
esa mls 27 lsdaM yxrs gSaA /heh jsyxkM+h dh yackbZ gS%

(a) 225 m (b) 230 m

(c) 240 m (d) 250 m

23. Two trains are moving in the same direction
at the speed of 36 km/hr and 48 km/hr. The
time taken by faster train to cross a man
sitting in the slower train is 33 seconds. What
will be the length of the faster train?

nks jsyxkfM+;k¡ 36 fd-eh@?kaVk rFkk 48 fd-eh-@?kaVk dh
pky ls leku fn'kk esa py jgh gSA rhoz pky okyh
jsyxkM+h }kjk /heh pky okyh jsyxkM+h esa cSBs ,d iq#"k
dks ikj djus esa fy;k x;k le; 33 lsd.M gSA rhoz
pky okyh jsyxkM+h dh yEckbZ D;k gksxh\

SSC CGL 07/12/2022 (Shift- 04)

(a) 770 metres (b) 90 metres

(c) 110 metres (d) 180 metres

24. A 240 m long train overtakes a man walking

at 6 km/h, in the same direction, in 9 seconds.

How much time (in seconds) will it take to pass

a 372 m long tunnel with the same speed?

240 eh- yEch jsyxkM+h] leku fn'kk es 6 fdeh@?kaVk dh
pky ls pyus okys O;fDr dks 9 lsdaM esa ikj dj tkrh gSA
mlh pky ls ;g jsyxkM+h] 372 eh- yEch lqjax dks fdrus
le; esa (lsdaM esa) ikj djsxk\

(a) 21.6 (b) 20

(c) 18 (d) 20.4

25. A train runs first 75 km at a certain uniform

speed and next 90 km at an average speed of

10 km/h more than the normal speed. If it

takes 3 hours to complete the journey, then

how time will the train take to cover 300 km

with normal speed?

,d jsyxkM+h] igys 75 fdeh dh nwjh ,d fuf'pr ,dleku
pky ls r; djrh gS vkSj vxys 90 fdeh dh nwjh lkekU;
pky ls 10 fdeh@?kaVk vf/d dh vkSlr pky ls r; djrh
gSA ;fn ;k=kk dks iwjk djus es 3 ?kaVs dk le; yxrk gS] rks
lkekU; pky ls jsyxkM+h dks 300 fdeh dh nwjh r; djus
esa  fdruk le; yxsxk\

(a) 5 hours 15 minutes (b) 5 hours

(c) 6 hours (d) 5 hours 25 minutes

26. Train A takes 2 hours more than train B to

cover a distance of 40 km. If train A doubles

his speed, he takes 
1

1
2

 hour more than train

B to cover 80 km. To cover a distance of 120

km, how much time (in hours) will train B take

travelling at his same speed?

40 fdeh dh nwjh r; djus esa] Vsªu A, Vsªu B ls 2 ?kaVs
vf/d ysrh gSA vxj Vsªu A viuh pky dks nksxquh djrk

gS] rks 80 fdeh nwjh r; djus esa og Vsªu B ls 
1

1
2

 ?kaVk

vfèkd ysrk gSA Vsªu B dks viuh pky ls 120 fdeh dh
nwjh r; djus esa fdruk le; (?kaVksa esa) yxsxk\

(a)
1

1
3

(b)
2

1
3

(c)
1

1
4

(d)
1

1
2

27. Two trains started simultaneously at 9 A.M.

from A and B towards B and A respectively.

Both of them take 12 hr to reach their

respective destinations. If the first train met

with an accident at 1 pm and thereafter travels

at half its original speed, when will the two

trains meet?

lqcg 9 cts nks Vªsusa ,d lkFk pyhaA A vkSj B ls Øe'k% B
vkSj A dh vksjA nksuksa dks vius&vius xarO; rd igqapus esa
12 ?kaVs yxrs gSaA ;fn igyh Vªsu nksigj 1 cts nq?kZVukxzLr
gks tkrh gS vkSj mlds ckn viuh ewy xfr ls vk/h xfr ls
pyrh gS] rks nksuksa Vªsusa dc feysaxh\

(a) 2 : 40 (b) 3 : 40

(c) 4 : 50 (d) 4 : 10

28. One train is 140 m longer than the other train

when they move in opposite direction they

cross each other in 35 seconds and when they

move in same direction they take 4 times time.

If speed of slower train is 27 km/h find the

speed of faster train.

,d Vªsu nwljh Vªsu ls 140 ehVj yach gS tc os foijhr
fn'kk esa pyrh gSa rks os ,d nwljs dks 35 lsdaM esa ikj
djrh gSa vkSj tc os leku fn'kk esa pyrh gSa rks mUgsa 4
xquk le; yxrk gSA ;fn /heh Vªsu dh xfr 27 fdeh@?kaVk
gS rks rst Vªsu dh xfr Kkr dhft,A

(a) 45km/h (b) 40km/h

(c) 33km/h (d) 54km/h
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29. Train A travelling at 63 kmph takes 27 sec to

cross Train B when travelling in opposite

direction whereas it takes 162 seconds to

overtake it when travelling in the same

direction. If the length of train B is 500 meters,

find the length of Train A.

Vªsu A 63 fdeh çfr ?kaVs dh xfr ls ;k=kk djrs gq, foijhr
fn'kk esa ;k=kk djrs le; Vªsu B dks ikj djus esa 27 lsdaM
dk le; ysrh gS tcfd leku fn'kk esa ;k=kk djrs le; bls
vksojVsd djus esa 162 lsdaM dk le; ysrh gSA ;fn Vªsu B
dh yackbZ 500 ehVj gS] rks Vªsu A dh yackbZ Kkr dhft,A
(a) 400 m (b) 810 m

(c) 500 m (d) 310 m

30. A starts from X at 9:00 am and reaches Y at

1:00 pm. B starts from Y at 9:00 am and

reaches X at 3 pm. At what time do the two

meet?

A lqcg 9%00 cts X ls pyuk 'kq: djrk gS vkSj nksigj
1%00 cts Y ij igq¡prk gSA B] Y ls lqcg 9%00 cts pyuk
'kq: djrk gS vkSj nksigj 3 cts X ij igq¡prk gSA nksuksa
fdl le; feyrs gSa\
(a) 11 : 00am (b) 11 : 24am

(c) 11 : 30am (d) 11 : 50am

31. A train of length 500 m crosses a platform of

length 50% more than the length of the train

in 50 seconds. Find the time taken by this

train to cross another train of same length

running with double the speed of first train in

the opposite direction.

500 ehVj yach Vªsu] Vªsu dh yackbZ ls 50» vf/d yackbZ
okys IysViQkWeZ dks 50 lsdaM esa ikj djrh gSA foijhr fn'kk
esa igyh Vªsu dh xfr ls nksxquh xfr ls py jgh leku
yackbZ dh nwljh Vªsu dks ikj djus esa bl Vªsu }kjk fy;k
x;k le; Kkr dhft,A

(a) 13sec (b) 15
1

2
sec

(c) 13
1

2
sec (d) 13

1

3
sec

32. On a station, a train is stopped for 6 minutes,

but after this its speed is increased by 4 km/

hr. When the train covers 36 km it manages

its delay. What is the initial speed of the train?

,d LVs'ku ij ,d Vªsu dks 6 feuV ds fy, jksdk tkrk gS]
ysfdu blds ckn bldh xfr 4 fdeh@?kaVk c<+k nh tkrh gSA
tc Vªsu 36 fdeh dh nwjh r; djrh gS rks ;g viuh nsjh
dk çca/u djrh gSA Vªsu dh çkjafHkd xfr D;k gS\
(a) 32 km/h (b) 36 km/h

(c) 40 km/h (d) 42 km/h

33. Two trains whose length difference is 170 m,
crosses each other in 16 sec when move in
opposite direction but crosses each other in 36
sec when move in the same direction. Find the
speed of faster train if speed of slower train is
35 km/hr.

nks jsyxkfM+;ksa dh yEckbZ;ksa dk varj 170 ehVj gSA foijhr
fn'kkvksa esa pyrh gqbZ ;s ,d nwljh dks 16 lsdaM esa vkSj
leku fn'kk esa pyrh gqbZ 36 lsdaM esa ikj dj tkrh gSA
;fn /heh xfr okyh jsyxkM+h dh pky 35 fdeh@?kaVk gks
rks rst xfr okyh jsyxkM+h dh pky D;k gksxh\

(a) 65 km/hr (b) 70 km/hr

(c) 78 km/hr (d) 91 km/hr

34. Train A running at 81 km/h takes 72 sec to
overtake train B, when both the trains are
running in the same direction, but it takes 36
sec to cross each other if the trains are running
in the opposite direction. If the length of train
B is 600 metres, then find the length of train
A. (in metres)

81 km/h dh pky ls pyus okyh Vªsu A, Vsu B ls
vkxs fudyus esa 72 sec dk le; rc ysrh gS] tc
nksuks a Vªsus a ,d gh fn'kk esa py jgh gksrh gSa] ysfdu ;fn
Vªsus a foijhr fn'kk esa py jgh gS] rks ,d&nwljs dks ikj
djus esa 36 sec dk le; ysrh gSaA ;fn Vsªu B dh yackbZ
600 ehVj gS] rks Vªsu A dh yackbZ Kkr djsaA (ehVj esa)

SSC CGL 13/12/2022 (Shift- 03)

(a) 600 (b) 480

(c) 590 (d) 900

35. Two trains are moving in the opposite direction
at the speed of 48 km/hr and 60 km/hr
respectively. The time taken by the slower
train to cross a man sitting in the faster train
is 12 seconds. What is the length of the slower
train?

nks jsyxkfM+;k¡ Øe'k% 48 fd-eh-@?kaVk rFkk 60 fd-eh-
@?kaVk dh pky ls foijhr fn'kk eas py jgh gSA /heh
pky okyh jsyxkM+h }kjk rst pky okyh jsyxkM+h esa cSBs
,d O;fDr dks ikj djus esa fy;k x;k le; 12 lsd.M
gSA /heh pky okyh jsyxkM+h dh yEckbZ D;k gS\

SSC CGL 08/12/2022 (Shift- 02)

(a) 480 metres

(b) 720 metres

(c) 180 metres

(d) 360 metres
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36. A train travels at a speed of 18 m/s in the first
5 minutes, covers 7.5 km in the next 10
minutes and covers 12 km in another 10
minutes. What is its average speed (in km/h,
rounded off to 1 decimal place) for the entire
journey?

,d Vsªu igys 5 feuV esa 18 m/s dh xfr ls ;k=kk
djrh gS] vxys 10 feuV esa 7.5 km dh nwjh r; djrh
gS vkSj nwljs 10 feuV esa 12 km dh nwjh r; djrh gSA
iwjh ;k=kk ds fy, bldh vkSlr xfr (km/h esa 1 n'keyo
ds LFkku rd iw.kkZ afdr) D;k gS\

SSC CGL 13/12/2022 (Shift- 03)

(a) 59.8 (b) 71.2

(c) 45.7 (d) 64.6

37. The distance covered by a train in (5y – 1)
hours is (125y³ – 1) km. The speed of the train
is:

,d jsyxkM+h }kjk (5y – 1) ?kaVks esa r; dh xbZ nwjh
(125y³ – 1) km gSA jsyxkM+h dh pky Kkr dhft,A

SSC CGL 02/12/2022 (Shift- 02)

(a) (5y³ – 1) km/h

(b) (25y² – 5y + 1) km/h

(c) (5y + 1) km/h

(d) (25y² + 5y + 1) km/h

38. A train starts at 3:00 pm from Mumbai and

moves towards Ahmedabad at the speed of 20

km/hr. Another train starts from Ahmedabad

at 8 pm and moves towards Mumbai at the

speed of 60 km/hr. If the distance between

Mumbai and Ahmedabad is 600 km. then at

what time both the trains will meet?

,d Vªsu nksigj 3%00 cts eqacbZ ls pyrh gS vkSj 20
fdeh@?kaVk dh xfr ls vgenkckn dh vksj pyrh gSA nwljh
Vªsu jkr 8 cts vgenkckn ls 'kq: gksrh gS vkSj 60 fdeh@?kaVk
dh xfr ls eqacbZ dh vksj pyrh gSA ;fn eqacbZ vkSj vgenkckn
ds chp dh nwjh 600 fdeh gSA rks nksuksa jsyxkfM+;k¡ fdl
le; feysaxh\

SSC MTS 13/06/2023 (SHIFT-02)

(a) 1:30 am (b) 12:30 am

(c) 2:00 am (d) 2:15 am

39. Two trains are moving in the same direction at
the speed of 44 km/hr and 70 km/hr. The time
taken by faster train to cross a man sitting in
the slower train is 72 seconds. What will be the
length of the faster train?

nks jsyxkfM+;k¡ 44 fdeh@?kaVk vkSj 70 fdeh@?kaVk dh xfr ls
,d gh fn'kk esa py jgh gSaA rst Vªsu }kjk /heh Vªsu esa cSBs ,d
O;fÙkQ dks ikj djus esa 72 lsdaM dk le; yxrk gSA rst Vªsu
dh yackbZ D;k gksxh\

SSC MTS 15/06/2023 (SHIFT-02)

(a) 520 metres (b) 620 metres

(c) 450 metres (d) 500 metres

40. A goods train, travelling at constant speed, crossed

two persons walking in the same direction (as that

of the train) in 11.6 seconds and 11.8 seconds,

respectively. The first person was walking at 5.85

km/h, while the second was walking at 6.3 km/h.

What was the speed of the train (in km/h)?

,d ekyxkM+h fLFkj pky ls ;k=kk djrs gq,] ,d gh fn'kk esa (Vsªu
dh fn'kk esa) py jgs nks O;fDr;ksa dks Øe'k% 11-6 lsdaM vkSj 11-
8 lsdaM esa ikj djrh gSA igyk O;fDr 5-85 fdeh@?kaVk dh pky
ls py jgk Fkk] tcfd nwljk 6-3 fdeh@?kaVk dh pky ls py jgk
FkkA Vªsu dh pky (fdeh@?kaVk esa) D;k Fkh\

SSC PHASE XI 27/06/2023 (Shift-03)

(a) 32.5 (b) 32.6

(c) 32.4 (d) 32.2

41. A train takes 7 seconds to pass man standing

on a platform and another train whose length is

double that of the first train, and moving in the

opposite direction, takes 10 seconds to pass him.

The time taken (in seconds, to the nearest

integer) by the trains to pass each other will be:

,d Vªsu dks IysViQkeZ ij •M+s vkneh dks ikj djus esa 7 lsdaM
yxrs gSa vkSj nwljh Vªsu] ftldh yackbZ igyh Vªsu dh yackbZ ls
nksxquh gS] vkSj foijhr fn'kk esa pyrh gS] mls ikj djus esa 10
lsdaM ysrh gSA Vªsuksa }kjk ,d nwljs dks ikj djus esa fy;k x;k
le; (lsdsaM esa] fudVre iw.kkZad rd) gksxk%

SSC PHASE XI 27/06/2023 (Shift-01)

(a) 8 (b) 9

(c) 10 (d) 12
42. The ratio of the lengths of trains A and B is 2:3 and

their speeds are 60 km/h and 72 km/h, respectively.
Trains A and B cross each other completely in 15
seconds, when travelling in opposite directions. How
much time (in seconds) will train B take to cross a
370 m long bridge completely?

Vªsuksa A vkSj B dh yackbZ dk vuqikr 2%3 gS vkSj mudh
xfr Øe'k% 60 fdeh@?kaVk vkSj 72 fdeh@?kaVk gSA foijhr
fn'kkvksa esa ;k=kk djrs le; Vªsu A vkSj B ,d nwljs dks
iwjh rjg ls 15 lsdaM esa ikj djrh gSaA Vªsu B dks 370 ehVj
yacs iqy dks iwjh rjg ls ikj djus esa fdruk le; (lsdaM
esa) yxsxk\

CRPF HCM 22/02/2023 (Shift - 02)

(a) 27 (b) 35
(c) 30 (d) 32
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43. The length of train A is 100 m more than the
length of a platform. What is the time taken
by train A to cross train B travelling in the
opposite direction if the speed of train B is 70
km/h and the speed of train A is 90 km/h and
the time taken by train A and B to cross the
same platform is 24 seconds and 36 seconds,
respectively?

Vªsu A dh yackbZ ,d IysViQkeZ dh yackbZ ls 100 ehVj vf/
d gSA Vªsu A }kjk foijhr fn'kk esa ;k=kk dj jgh Vªsu B dks
ikj djus esa fdruk le; yxrk gS] ;fn Vªsu B dh xfr 70
fdeh@?kaVk gS vkSj Vªsu A dh xfr 90 fdeh@?kaVk gS vkSj Vªsu
A vkSj B leku IysViQkeZ dks ikj djus esa Øe'k% 24 lsdaM
vkSj 36 lsdaM dk le; yxrk gS\

CRPF HCM 23/02/2023 (Shift - 02)

(a) 15 seconds (b) 18 seconds

(c) 14 seconds (d) 16 seconds

44. The distance between two stations P and Q is
400 km. A and B start from stations P and Q
respectively at the same time towards each
other, and the speed of B is 10 km/h more than
the speed of A If the difference between the
distance of A and B after 3 hours since starting
is 70 km, find the speed of B (in km/h).

nks LVs'kuksa P vkSj Q ds chp dh nwjh 400 fdeh gSA A vkSj
B ,d gh le; esa Øe'k% LVs'ku P vkSj Q ls ,d&nwljs
dh vksj pyuk 'kq: djrs gSa] vkSj B dh xfr A dh xfr ls
10 fdeh@?kaVk vf/d gSA ;fn 'kq: djus ds 3 ?kaVs ckn A
vkSj B ds chp dh nwjh dk varj 70 fdeh gS] (fdeh@?kaVk
esa) B dh xfr Kkr dhft,A

CRPF HCM 28/02/2023 (Shift - 02)

(a) 60 (b) 45

(c) 55 (d) 50

45. A train x running at 74 km/h crosses another
train y running at 52 km/h in the opposite
direction in 12 seconds. If the length of y is
two-thirds that of x, then what is the length of
y (in m)?

74 km/h dh pky ls py jgh ,d jsyxkM+h x, 52 km/

h dh pky ls foijhr fn'kk esa vk jgh gS rFkk nwljh
jsyxkM+h y dks 12 lsd.M esa ikj djrh gSA ;fn jsyxkM+h y
dh yackbZ jsyxkM+h x dh yackbZ ls nks&frgkbZ vf/d gS rks
jsyxkM+h y dh yackbZ (m esa) fdruh gksxh\

SSC CPO 25/11/2020 (Shift-1)

(a) 252 (b) 200

(c) 168 (d) 210

46. A train travelling at the speed of x km/h crossed
a 300 m long platform in 30 seconds, and
overtack a man walking in the same direction at
6 km/h in 20 seconds. What is the value of x?

x km/h dh pky ls pyus okyh jsyxkM+h 300 m yacs
IysViQkWeZ dks 30 lsd.M esa ikj djrh gS vkSj mlh fn'kk esa
6 km/h dh pky ls py jgs O;fDr dks 20 lsd.M esa
ikj djrh gSA x dk eku Kkr djsaA

SSC CPO 24/11/2020 (Shift-2)

(a) 60 (b) 96

(c) 48 (d) 102

47. Two trains A and B having the lengths 195 m

and 165 m respectively, are running in the

same direction on parallel lines. If the speed

of A and B be 77 km/h and 85 km/h

respectively, then what will be the time (in

seconds) taken by them to cross each other?

nks Vªsusa A vkSj B ftudh yackbZ Øe'k% 195 eh vkSj 165

eh gS] lekukarj iVfj;ksa ij ,d gh fn'kk esa py jgh gSaA

;fn A vkSj B dh pky Øe'k% 77 fdeh@?kaVk vkSj 85

fdeh@?kaVk gS] rks muds }kjk ,d nwljs dk ikj djus esa

fdruk le; (lsadM esa) fy;k tk,xkA
(a) 162 (b) 164

(c) 160 (d) 166

48. Two trains start from Delhi and Puna towards
each other at 7 am with speeds of 85 km/h
and 67 km/h, respectively. If they cross each
other at 3.30 p.m., the distance between the
stations is:

nks Vªsusa 7 am ij fnYyh vkSj iwuk ls Øe'k% 85 fdeh@?kaVk
vkSj 67 fdeh@?kaVk dh pky ls ,d nwljs dh vksj pyuk
izkjaHk djrh gSaA ;fn os nksuks a ,d nwljs dks 3.30 pm

ØkWl djrh gSa] rks nksuks a LVs'kuksa ds chp dh nwjh--------gSA

(a) 1245 km (b) 1292 km

(c) 1283 km (d) 1227 km

49. Two trains A and B start running at 80 km/h
and 82 km/h towards each other from two
different stations. They meet after 1 hour 30
minutes. How far were they from each other
when they started?

nks jsyxkfM+;ka A vkSj B nks vyx&vyx LVs'kuks a ls ,d
nwljs dh vksj 80 fdeh@?kaVk vkSj 82 fdeh@?kaVk dh pky
ls pyuk 'kq: djrh gSaA os 1 ?kaVs a 30 feuV ds ckn
feyrh gSaA tc jsyxkfM+;ksa us pyuk 'kq: fd;k rks os ,d&nwljs
ls fdruh nwjh ij Fkha\
(a) 19 km (b) 262 km

(c) 243 km (d) 224 km
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Answer Key

1.(a) 2.(a) 3.(c) 4.(d) 5.(c) 6.(c) 7.(b) 8.(d) 9.(b) 10.(b)

11.(b) 12.(d) 13.(c) 14.(d) 15.(c) 16.(a) 17.(d) 18.(c) 19.(b) 20.(d)

21.(c) 22.(a) 23.(c) 24.(a) 25.(c) 26.(d) 27.(a) 28.(a) 29.(d) 30.(b)

31.(d) 32.(b) 33.(d) 34.(b) 35.(b) 36.(a) 37.(d) 38.(d) 39.(a) 40.(c)

41.(b) 42.(b) 43. (b) 44. (a) 45.(c) 46.(b) 47.(a) 48.(b) 49.(c) 50.(c)

50. Two stations are 120 km apart on a straight
line. A train starts from station A at 8 a.m.
and moves towards station B at 20 km/h and
another train starts from station B at 9 a.m.
and travels towards station A at a speed of 30
km/h. At what time will they meet?

nks LVs'ku ,d lh/h js[kk esa 120 fdeh dh nwjh ij gSA
,d Vªsu LVs'ku A ls lqcg 8 am ij pyuk 'kq: djrh
gS vkSj LVs'ku B dh vksj 20 fdeh@?kaVk dh pky ls
pyrh gS vkSj nwljh Vªsu LVs'ku B ls lqcg 9 am ij
pyuk 'kq: djrh gS vkSj LVs'ku A dh vksj 30 km/h

dh pky ls pyrh gSA os fdl le; feysaxh\
(a) 10:30 am (b) 10:00 am

(c) 11:00 am (d) 11:30 am

......-------......
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SOLUTIONSOLUTIONS
1. (a)

ATQ,

Length of train = 56 × 
5

18
18



= 280 m

2. (a)

Length of train = (78 – 6) × 
5

15
18



= 300m

(300 + tunnel) = 
5

78 45
18

 

(300 + tunnel) = 975

     tunnel = 975 – 300

        = 675 m

3. (c)

S

Car Bus

7      :      5

Speed of train = 
1020

2
17



= 120km/h

Speed of bus =
120

60km /h
2



(5)  60 km/h

(1)  12 km/h

Speed of Car = 12 × 7 = 84 km/h

Distance covered by car = 
7

84
4


= 147 km

4. (d)

100 270 370 3
–

– 5 5x x x

 
    

Here x = 50 km/h satisfies (by option)

   So normal speed of train = 50 km/h

5. (c)

ATQ,

Let speed be x

18 18 45 – 36
–

4 60

5

x
x

 
    

 5 – 4 9
18

4 60x
 

 x = 30 km/h (Original speed)

6. (c)

Let speed be x

30 30 12
–

3 60

4

x
x

 

 4 – 3 1
30

3 5x
 

  x = 50 km/h

7. (b)

Train Gun

600      :      30t

S 1         :       20

(20)  330

(1)   16.5

Speed of train = 16.5 ×
18

5

= 3.3 × 18

= 59 .4 km/h

8. (d)

ATQ,

(lp + 320) =
5

120 24
18

 

lp = 800 – 320

    = 480m
480 = x × 240

   x = 2m/s
9. (b)

ATQ,

S
1
 + S

2
 = 

1 2

5

l l

162 × 
5

5
18

  = l
1
+l

2

l
1
 + l

2
 = 225

l
1
  = (90 – 72) × 

5
25

18


= 125m

l
2
  = 100m
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10. (b)

ATQ,

 
5

48 42 12
2 18

l
l
 

      

3
300

2

l


l = 200m

(200 +lp) =
5

48 45
18

 

200 + lp = 600

     lp = 400m

11. (b)

280 = 
5

60 7
18

  x

12

5
x

lengh of II bridge

 = 60 ×
5 12

4
18 5

 

= 10 × 16 = 160 m

12. (d)

Let speeds of train are x, y respectively

x × 1.5 × 60 – y × 1.5 × 60 = 400

90 × (x –y) = 400

  (x – y) = 
40

9
.......(i)

(x + y) × 
1.5

2
60



x + y = 80 ........(ii)

x = 
760

km /h
9 2

 = 
380

km /h
9

380 720 – 380
y 80 –

9 9
   = 

340
km /h

9

Length of both train = 
380 340 5 9

9 9 18 2

 
    
 

= 
720 5 9

9 18 2
 

= 100m

option (d) sum 100

So option (d) correct

13. (c)

(l + 2l) = (80 – 40) ×
5

54
18



3l = 600

l = 200

l
E
 = 200m

l
G 
= 400m

ATQ,

Time taken by express train = 

600

5
80

18


= 
3

18
2


= 27sec

14. (a)

Train Man

6      :      1S

Speed of train = 
650

65

= 10m/s

(6)   10

(1)   
10

6

Time taken by man to cross platform = 
24

6
10



= 144 sec

= 2 min. 24 sec

15. (c)

21

2 1

TS

S T


B

45 200

S 288


B

45 5

S 6


S
B
 = 54 km/h

16. (a)

Distance travelled by train in 53 seconds

= 36 ×
5

53
18



= 530 m

Distance of pole from front end of train

 = 530 – 110   = 420 m
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17. (d)

A.T.Q

Speed of train =
900

60

= 15 m/s

 500 = (54 + 18) ×
5

18
× t

t = 25 seconds

18. (c)

(l
1
 +l

2
) = (54 –42) × 

5
63

18


   = 12 ×
5

63
18



l
1
 + l

2
 = 210 m

l = 105 m

length of each train = 105 m

19. (b)

Time taken by train = 

1200 400 200

5
72

18

 



 = 
1800

20

= 90 sec

= 1.5 minutes

20. (d)

l
B 
= (50 + 58) ×

5
15

18


 l
B 
= 450 m

l
A 
= 

450
150m

3


21. (c)

 
2 5

84 52 12
3 18

l l
 

      

     = 136 ×
5

12
18

 = 
1360

3

5 1360

3 3

l


l = 272 m

22. (a)

Speed = 1.5 km/m = 90 km/h

length of slower train = (90 – 60) × 
5

27
18



= 110 m

23. (c)

Length of fast train = (48 – 36) ×
5

33
18



 = 110 metres

24. (a)
ATQ,

240 = (x – 6) ×
5

9
18



(x – 6) =
480

5

x – 6 = 96
x = 102 km/h

(240 + 372) = 102 × 
5

t
18



t = 
612 18

102 5




  = 

108
21.6 sec

5


25. (c)
ATQ,

 
75 90

3
10x x

 


 
2

5 50 6
15 3

10

 




x x

x x

 x2 – 50x + 5x – 250 = 0
 x(x – 50) + 5 (x – 50) = 0

x = 50 km/h
So, time taken to cover 300 km

= 
300

50
= 6hours

26. (d)

Train A takes 4 hours more than train B to
covers 80 km distance

Train A        S         1    :   2

t          2    :   1

 



(1)

(1)  
1 1

4 –1 2
2 2

 
   
 

time taken by A = 5 hours

time taken by B = 1 hour

speed of B =
80

80
1

 km/h

Time taken by B = 
120 3 1

1 hours
80 2 2

 
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27. (a)

Both train take same time to reach his
destination

So speed will same of both train

 
A 1

Speed
B 1



Total distance = 12 × 1 = 12

(B+A) × 4 = 8

 
4 8

Remain A B hr 2hr 40 min
3 3

2

   

meet = 3 : 40

28. (a)

t  1  :  4

S 4  :  1

S
1
 + S

2
 = 4x

S
1
 – S

2
 = x

S
1
 = 

5

2

x
, S

2
 =

3

2

x


3

2

x
 = 27 km/h

x = 18 km/h

Speed of fast train = 
5 18

45 km /h
2




29. (d)

time  27 : 162

speed  6   :   1

S
A
 + S

B
 = 6x

 S
A
 – S

B
 = x

S
A
 = 

7

2

x
, S

B
 = 

5

2

x

7
63km /h

2


x

x = 18 km/h

S
B
 =  

5 18
45km /h

2




 (500+ l
A
) = (63 + 45) ×

5
27

18


(500 + l
A
) = 810

l
A
 =  310m

30. (b)

A         4h    

B          6h    





6km/h

4km/h

24

Meeting time =
24

10

           = 2h 24 min

            = 11 : 24 am

31. (d)

Speed of train = 
1250

50

= 25 m/s

time taken = 
1000

75

          = 
40 1

13 sec
3 3



32. (b)

ATQ,

36 36 6
–

4 60


x x

x = 36 km/h (by option)

it satisfies this equation

33. (d)

time 16  :  36

Speed  9   :   4

S
1
 +  S

2
 = 9x

S
1
 – S

2
 = 4x

S
1
 = 

13

2
x

S
2
 = 

5

2
x

5

2
x = 35

x = 14 km/h

Speed of fast train =
13

×14 = 91 km /h
2
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34. (b)

time          72    :   36

speed          1    :    2





S
1
 + S

2
 = 2x

S
1
 – S

2
 = x

S
1
 = 

3x

2
, S

2
 = 

x

2

3
81

2


x

x = 54 km/h

speed of B = 
54

27 km /h
2



(l
A
 + 600) = (81 – 27) ×

5
72

18


         = 54 ×
5

72
18



l
A
 + 600 = 1080

l
A 
= 480 m

35. (d)

length of slower train = (60 + 48) ×
5

12
18



 = 360

36. (a)

Distance travel in 5 minutes = 18 × 5 × 60

= 5400 m

= 5.4 km

 5.4 7.5 12
Average speed

25

60

 


= 
24.9 12

5



= 
298.8

5

= 59.76

= 59.8 km/h

37. (d)

 
 

3 3125y –1
Speed

5y –1


  
 

2

2
5y –1 25y 1 5y

25y 1 5y
5y –1

 
   

38. (d)

Mumbai
  A
3pm

Ahmedabad
   B
8pm600 km

Distance travelled by train A = 5 × 20

in 5 hours = 100 km

Meeting time =
500

80

= 6 h 15 min

= 2 : 15 am

39. (a)

Length of faster train = (70 – 44) ×
5

72
18



= 26 × 
5

72
18



= 520 m

40. (c)

Let speed of train = x km/h

l = (x – 5.85) × 
5

18
×11.6

l = (x – 6.3) × 
5

18
× 11.8

(x – 5.85) × 
5

18
× 11.6 = (x – 6.3) × 

5

18
× 11.8


– 5.85 59

– 6.3 58

 
   
 

x

x

 x = 59 × 6.3 – 58 × 5.85

 x = 32.4 km/h

41. (b)

D
S

T


  S1 

A B

1 2
:

7 10

  S  5   :   7

A =  5m/s  

B =  7m/s

(7)

(5)

35

Meeting time =
 35 2 35

12

 
= 

105

12

  9 sec
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42. (b)

(2x + 3x) = (60 + 72) ×
5

18
×15

   5x  = 132 ×
5

18
×15

 x = 110m

length of train B = 3x = 330m

  (330 + 370) = 72 × 
5

18
× t

700 = 4 × 5 × t

    t = 35 sec

43. (b)

Let length of platform = x

(x + x + 100) = 90 × 24 ×
5

18

(2x + 100) = 600

         x = 250

length of A = 100 + 250 = 350

(250 + l
B
) = 70 ×

5

18
× 36

l
B
 = 700 – 250

l
B
 = 450

(450 + 350) = (90 + 70) ×
5

18
× t

t = 
160 18

160



  = 18 sec

44. (a)

P Q
400 km

(A) (B)

Speed  A B

          x        x + 10

Distance in 3h = (3x + 3x + 30)

3x + 3x + 30 + 70 = 400 km

6x = 300

 x = 50

Speed of B = 50 + 10

            = 60 km/h

45. (c)

2 5
126 12

3 18

 
     
 
l l

 
5

420
3


l

length of y =
2

252
3


          = 168m

46. (b)

l = (x – 6) × 20 ×
5

18

(l + 300) = x × 30 ×
5

18

(x – 6) ×
100 150

300
18 18

  x

100 100 150
– 300

18 3 18
 x x

50 800

18 3
x

x = 96 km/h

47. (a)

Relative speed in same direction

= (85 – 77) km/hr = 8km/h.

Distance
Time

Speed


360 18

8 5
   = 162 seconds

Time taken by them to cross each other = 162

seconds.

48. (b)

Given

Speed of train started from Delhi

= 85 km/h

Speed to train started from Puna

= 67 km/h

Travelling time of both the train

= Duration between 07 : 00 AM to 03 : 30 PM

= 8.5 hour

Distance covered by the train started from
Delhi = 85 × 8.5 = 722.5 km

Distance covered by the train started from
Puna = 67 × 8.5 = 569.5 km

Hence, The distance between Delhi and Puna

 = 722.5 + 569.5 = 1292 km
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49. (c)

Relative Speed = (80 + 82) = 162 km/h

Both trains meet After 1 hour 30 minute,

Time = 1.5 h

Distance between the Trains = 162 × 1.5 h =
243 km

50. (c)

In such a type of question we will make the
time of starting the same for both the stations.

Assume, The starting time of station A is 9
AM.

Now the distance

= 120 – 20 = 100 km

Relative speed

= 20 + 30 = 50 km/h

100
Time

50
 = 2 hour

Time of meeting  = 9AM + 2 hour

= 11 AM

......-------......
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